
P51 P52

15 121.5

15 x 30

15

510

(1c)

(1c)

ESC 1:50

V4

A

A

SE¢ëO A-A

ESC 1:25

3
0

15

121.5

9 N1 c/15

2 N2 ß10.0  C=165

12

146

12

2 N3 ß10.0  C=173

16

146

16

9 N1 ß5.0  C=78

9

24

Rela­«o do a­o

V4

A¢O
N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 9 78 702

CA50 2 10.0 2 165 330

3 10.0 2 173 346

Resumo do a­o

A¢O
DIAM C.TOTAL

(m)

PESO

(kg)

CA50

CA60

10.0

5.0

6.8

7.1

4.2

1.1

PESO TOTAL

CA50

CA60

4.2

1.1

Vol. de concreto total (C-25) = 0.07 mį

Ćrea de forma total = 1.14 mĮ
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